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RAN-0261
B.Com. (Sem.-IV) (External) Examination

March / April - 2019

Accountancy & Taxation (New)

Time: 2 Hours ]	 [ Total Marks: 50

k|Q“p : / Instructions

“uQ¡ v$ip®h¡g  r“ip“uhpmu rhNsp¡ DÑfhlu ‘f Ahíe gMhu.
Fill up strictly the details of  signs on your answer book

Name of the Examination:

 B.Com. (Sem.-IV)

Name of the Subject :

 Accountancy & Taxation (New)

Subject Code No.: 0 2 6 1

Seat No.:

Student’s Signature

â.1.	(1)	 “uQ¡“u dprlsu ‘f’u â¡afÞk i¡fd|X$u ip¡^p¡.									         3

	 (1)	 rdgL$sp¡ - ê$p.38,60,000

	 (2)	 v$¡hp„ - ê$p.12,60,000

	 (3)	 ê$p.100 “p„ A¡L$ A¡hp C[¼hV$u i¡f, i¡fv$uW$ ê$p.80 cf‘pC ê$p.16,00,000

	 (4)	 i¡f“u Ap„sfuL$ qL„$ds ê$. 100

	 (2)	 îu AÆs 25 hj® A“¡ 11 drl“p “p¡L$fu L$fu“¡ Mp“Nu L„$‘“udp„’u sp.1.3.2018“p  
fp¡S> r“h©Ñ ’ep. s¡d“¡ ê$p.40,00,000 “u N°¡ÃeyCV$u dmu. hj® 2017 A“¡ 2018dp„  
s¡d“p¡ d|m dprkL$ ‘Npf ê$p.1,20,000 A“¡ ê$p.1,40,000 lsp¡. hj® 2017 A“¡ 2018dp„ 
s¡d“¡ dprkL$ bp¡“k ê$p.60,000 A“¡ ê$p.80,000 dþey„ lsy„.						      3

		  ApL$pfZu hj® 2018-19 dpV¡$ L$f‘pÓ N°¡ÃeyCV$u“u fL$d ip¡^p¡.

	 (3)	 dufp„ rg. “u i¡fd|X$u “uQ¡ dyS>b R>¡.											           4

		  7,800 (A) C[¼hV$u i¡f v$f¡L$ ê$p.100 “p¡ ‘|fp cf‘pC			   7,80,000

		  6,800 (b) C[¼hV$u i¡f v$f¡L$ ê$p.100 “p¡ i¡fv$uW$ ê$p.80 cf‘pC		  5,44,000
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		  6,400 L$ C[¼hV$u i¡f v$f¡L$ ê$p.100 “p¡ i¡fv$uW$ ê$p.50 cf‘pC	 3,20,000

			    	 cf‘pC d|X$u -		  16,44,000	

				    kpdpÞe A“pds	   2,10,000

			    	 g¡Zv$pfp¡			     1,46,000

								         20,00,000

		  L„$‘“u“p¡ L$fbpv$ kf¡fpi “ap¡ ê$p.1,80,500 A„v$pS>¡g R>¡. Ap âL$pf“p ^„^pdp„ A‘¡rns 
hmsf“p¡ v$f 12% R>¡. D‘f“u rhNsp¡ ‘f’u

	 (1)	 Qp¡¿Mu rdgL$s“u ‘Ý^rsA¡ A“¡

	 (2)	 D‘S>“p ^p¡fZ¡ i¡f“y„ d|ëep„L$“ L$fp¡.

â.2.		  “f¡i rgrdV¡$X$“y„ sp.31.3.2018 “p ‘p¡S>“y„ ‘pLy„$ kfh¥ey„ “uQ¡ dyS>b R>¡.					    14

rhNs “p¢^ fL$d
(1) C[¼hV$u A“¡ v$¡hp„
 1) i¡f lp¡ëX$fp¡“p„ c„X$p¡m
    (A) i¡fd|X$u
       ê$p.10“p¡ A¡L$ A¡hp ‘|fp cf‘pC CL$.i¡f 2,00,000
       ê$p.10“p¡ A¡L$ A¡hp ê$p.5 cf‘pC CL$.i¡f 1,00,000
       10% “p ‘|fp cf‘pB â¡afÞk i¡f 1,50,000
    (b) A“pds A“¡ h^pfp¡
       “.“y. Mpsy„ 50,000
(2) rb“ Qpgy v$¡hp
     gp„bp Npmp“p„ DR>u“p„ “pZp„ - 10% “p qX$b¢Qf 1,00,000
(3) Qpgy v$¡hp
      (A) h¡‘pfu v$¡hp
      g¡Zv$pf + v$¡hulŸ„X$u 40,000
     (b) AÞe Qpgy S>hpbv$pfu
           b¡ÞL$ Ap¡hfX²$pãV$ 60,000
           Q|L$hhp“y„ bpL$u qX$rhX$ÞX$ 30,000
      (L$) V|„$L$p Npmp“u Å¡NhpC
          AphL$h¡fp“u Å¡NhpC
          (hj® 2017-18 dpV¡$ 50% g¡M¡) 2,00,000

Ly$g 9,30,000



RAN-0261 ]	 [ 3 ]	 [ P.T.O. ]

(2) rdgL$sp¡
(1) rb“Qpgy rdgL$sp¡
      (A) L$pedu Öíe rdgL$sp¡
       S>du“-dL$p“ 2,40,000
       e„Óp¡ 3,00,000
       ar“®Qf 50,000
       hpl“p¡ 1,00,000
       (b) AÞe rb“ Qpgy rdgL$sp¡
        qX$b¢Qf hV$ph 10,000
(2) Qpgy rdgL$sp¡
        (A) Qpgy fp¡L$pZp¡
         GDP rg. “p 1,000 CL$.i¡f 1,30,000
        (b) h¡‘pfu v$¡hpv$pfp¡
          v$¡hpv$pf + g¡Zu lŸ„X$uAp¡ 80,000
        (L$) fp¡L$X$ A“¡ fp¡L$X$ õhê$‘“u rdgL$sp¡
          fp¡L$X$ rkgL$ 20,000

Ly$g 9,30,000

		  h^pfp“u dpqlsu :

	 (1)	 L„$‘“u“u ‘pOX$u“u qL„$ds ê$p.2,10,000 Ap„L$hpdp„ Aphu.

	 (2)	 S>du“-dL$p““u Qp¡‘X¡$ qL„$ds s¡“u bÅf qL„$ds L$fsp„ 40% Ap¡R>u R>¡.

	 (3)	 e„Óp¡“u bÅf qL„$ds Qp¡‘X$p qL„$ds L$fsp„ 10% h^y R>¡.

	 (4)	 hpl“p¡ ‘f 10% “p v$f¡ A¡L$ hj®“p¡ Okpfp¡ NZhp“p¡ R>¡.

	 (5)	 GDP rg. “p C[¼hV$u i¡f“p¡ bÅfcph i¡fv$uW$ ê$p.500 R>¡.

	 (6)	 R>¡ëgp ÓZ hj®’u v$f hj£ 50% g¡M¡ L$fh¡fp bpv$ L$ep® ‘R>u“p “apdp„ s¡“p ANpD“p hj® L$fsp„ 
ê$p.30,000 “p¡ h^pfp¡ ’e¡g R>¡.

	 (7)	 Ap S> âL$pf“p¡ ^„^p¡ L$fsu A“¡ 30% rX$rhX$ÞX$ Ap‘su L„$‘“u“p C[¼hV$u i¡f“p¡ bÅfcph s¡“u 
cf‘pC ’e¡g fL$d L$fsp„ bdZp¡ R>¡.

		  D‘f“u rhNs ‘f’u bÞ“¡ âL$pf“p„ C[¼hV$u i¡f“u hpS>bu qL„$ds ip¡^p¡.

	 A’hp
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â.2.		  “uQ¡ Ap‘¡g îu rhL$pk klpe“p dL$p“p¡“u dprlsu D‘f’u Ap.h. 2018-19 dpV¡$ ""dL$p“ 
rdgL$s“u AphL$'' “p iuj®L$ l¡W$m“u L$f‘pÓ AphL$“u NZsfu L$fp¡.				        14

rhNs dL$p“ 1 dL$p“ 2 dL$p“ 3 dL$p“ 4
h‘fpi“p¡ âL$pf fl¡W$pZ dpV¡$ 

cpX¡$ Ap‘¡g 
ê$p.

^„^p dpV¡$ 
cpX¡$ Ap‘¡g 

ê$p.

õhh‘fpi 
ê$p.

õhh‘fpi 
ê$p.

(1) çeyr“rk‘g ApL$pfZu 3,60,000 5,60,000 8,00,000 7,60,000
(2) âdprZs cpXy„$ 3,80,000 5,40,000 7,60,000 8,40,000
(3) hpS>bu cpXy„$ 4,60,000 6,00,000 8,40,000 8,00,000
(4) Mf¡Mf dmhp‘pÓ cpXy„$ 3,96,000 6,90,000 - -
(a¼s cpX¡$ Ap‘¡g kde“y„)
(5) dL$p“ Mpgu füp“p¡ kde 2 dpk 1 dpk - -
(6) îu rhL$pk¡ Q|L$h¡g çey. h¡fp 12,000 24,000 30,000 10,000
(7) cpXy$Aps¡ Q|L$h¡g çey. h¡fp 10,000 36,000 - -
(8) dfpds MQ® 20,000 30,000 40,000 20,000
(9) bp„^L$pd ‘|Z® ’ep“y„ hj® 2013-14 2010-11 2011-12 2006-07
(10) d|X$uL©$s ìepS> 200,000 3,00,000 4,00,000 3,00,000

â.3.		  “uQ¡“u dprlsu“¡ Ap^pf¡ îu dp“h“u ApL$pfZu hj® 2018-19 dpV¡$ ‘Npf“u L$f‘pÓ  
AphL$ NZp¡.															               14

	 (1)	 s¡Ap¡ sp.01.01.2017 “p fp¡S>’u 20,000-1000-30,000 “p N°¡X$dp„ “p¡L$fudp„ Å¡X$pep.

	 (2)	 s¡d“¡ d|m ‘Npf“p 10% g¡M¡ dp¢Ohpfu cÕ’y„ dm¡ R>¡.

		  (S>¡ ‘¥L$u 50% fL$d r“h©rÑ“p gpc dpV¡$ NZhpdp„ Aph¡ R>¡).

	 (3)	 bp¡“k A¡L$ dpk“p¡ ‘Npf (dpQ®-2018 “p dpk“p„ d|m ‘Npf S>¡V$gp¡).

	 (4)	 s¡dZ¡ dpÞe âp¡rhX$ÞV$ a„X$dp„ 15% g¡M¡ apmp¡ Ap‘¡g R>¡.

		  (d|m ‘Npf hÑp dp¢^hpfu cÕ’p„“p Ap^pf¡) dprgL¡$ ‘Z A¡V$gp¡ S> apmp¡ Ap‘¡g R>¡.

	 (5)	 s¡d“¡ cpX$p hNf“p„ fl¡W$pZ“p dL$p““u kNhX$ Ap‘u R>¡, L¡$ S>¡ L„$‘“uA¡ v$f drl“¡ ê$p.10,000 
“p„ cpX$p’u gu^y„ lsy„.

	 (6)	 s¡d“¡ ê$p.1,50,000 “u qL„$ds“p g¡‘V$p¡‘“u kNhX$ dmu lsu.

	 (7)	 L„$‘“u Üpfp s¡d“p cpC“u sbubu kpfhp“y„ bug ê$p.25,000 “u Q|L$hZu L$fhpdp„ Aphu lsu. 
cpC s¡“p ‘f Aprîs R>¡.
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	 (8)	 OfOpV$u“p ‘Npf“p„ v$f drl“¡ ê$p.1000 g¡M¡ dprgL¡$ Q|L$ìep R>¡.

	 (9)	 s¡“u g‚“u hj®Np„W$ r“rdÑ¡ ê$p.20,000 “y„ NuãV$ hpDQf c¡V$dp„ dþey„ lsy„.

	 (10)	 s¡d“¡ v$f drl“¡ ê$p.500 “y„ V¡$rgap¡“ cÕ’y„ dm¡ R>¡.

	 (11)	 L„$‘“u Üpfp Q|L$h¡g sbubu hudp“y„ âurded ê$p.10,000.

	 (12)	 hprj®L$ 11% “p v$f¡ dpÞe âp¡rhX$ÞV$ a„X$dp„ S>dp ’e¡gy„ ìepS> ê$p.22,000.

	 (13)	 ê$p.300 “p ìehkpe h¡fp“u Q|L$hZu dprgL¡$ L$f¡g R>¡.

		  A’hp

â.3.		  îu S>su“ Adv$phpv$dp„ rhrióV$ L$d®Qpfu R>¡. ApL$pfZu hj® 2018-19 “u “uQ¡“u rhNsp¡  
‘f’u ‘Npf“u L$f‘pÓ AphL$ ip¡^p¡.											           14

	 (1)	 s¡Ap¡ sp.1.1.2011 “p fp¡S> 14,000-1000-20,000-2000-36,000 “p N°¡X$dp„  
“p¡L$fudp„ Å¡X$pep.

	 (2)	 dp¢Ohpfu cÕ’y„ d|m ‘Npf“p„ 30%.

	 (3)	 bp¡“k ê$p.50,000.

	 (4)	 d“p¡f„S>“ cÕ’y„ v$f drl“¡ ê$p.2,000.	

	 (5)	 V²$pÞk‘p¡V®$ cÕ’y„ v$f drl“¡ ê$p.1,800.

	 (6)	 ÓZ bpmLp¡ dpV¡$ rinZ cÕ’y„ ê$p.8,400 A“¡ A¡L$ bpmL$ dpV¡$ lp¡õV¡$g cÕ’y„ ê$p.8,600.

	 (7)	 dpÞe âp¡rhX$ÞX$ a„X$dp„ s¡Ap¡ d|m ‘Npf“p 15% apmp¡ Ap‘¡ R>¡. L„$‘“u ‘Z s¡V$gp¡ S> apmp¡  
Ap‘¡ R>¡.

	 (8)	 dpÞe âp¡rhX$ÞX$ a„X$dp„ 15% g¡M¡ S>dp ’e¡g hprj®L$ ìepS> ê$p.15,000.

	 (9)	 d¡X$uL$g  cÕ’y„ v$L$ drl“¡ ê$p.1000.

	 (10)	 Ap¡qak kde v$fçep“ ’e¡g CÅ“y„ hmsf ê$p.25,000 L„$‘“uA¡ Q|L$ìey„.

	 (11)	 Ly$Vy„$b“p kæep¡“u v$pL$sfu kpfhpf  A„N¡ rbg“u fL$d ê$p.20,120 L„$‘“uA¡ Q|L$hu R>¡.

	 (12)	 L„$‘“u Üpfp s¡d“¡ fl¡W$pZ“u khgs ‘|fu ‘pX$hpdp„ Aphu lsu. S>¡ A„N¡ L„$‘“u v$f drl“¡ 
ê$p.5,000 cpXy„$ Q|L$h¡ R>¡. L„$‘“uA¡ s¡d“¡ ê$p.2,41,900 “u qL„$ds“y„ ar“®Qf ‘Z ‘|fy„ ‘pX¡$g R>¡. 
Ap khgs A„N¡ s¡d“p ‘Npfdp„’u v$f drl“¡ ê$p.2,000 L$‘ps ’pe R>¡.

	 (13)	 îu S>su“¡ ìehkpe h¡fp“p ê$p.2,400 Q|L$h¡g R>¡.
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â.4.		  V|„$L$“p¢^ gMp¡. (Nd¡ s¡ ÓZ)												            12

	 (1)	 dpg A“¡ k¡hp L$f “p„ ‘ÓL$p¡“y„ âep¡S>“.

	 (2)	 L$pedu Mpsp “„bf.

	 (3)	 d“p¡f„S>“ cÕ’y„ A“¡ Of cpX$p„ cÕ’y„.

	 (4)	 L$p¡çàeyV¡$X$ A“¡ A“-L$p¡çàeyV¡$X$ ‘¡Þi“.

	 (5)	 i¡f“p„ d|ëep„L$““¡ Akf L$fsp ‘qfbmp¡.

English Version

Q.1.	(i)	 From the following information find out the preference capital.	 	 	    (3)

	 (i)	 Assets – Rs. 38,60,000

	 (ii)	 Liabilities – Rs. 12,60,000

	 (iii)	 Equity shares of Rs. 100 each paid up Rs. 80 per share- Rs. 16,00,000

	 (iv)	 The intrinsic value of equity is Rs. 100.

	 (ii)	 Mr. Ajit retired from a private company on 1-3-2018 after a service of 		  3 
25 years and 11 months. He received Rs. 40,00,000 as gratuity. During the 
calendar year 2017 and 2018 his average monthly basic salary was  
Rs. 1,20,000 and Rs. 1,40,000. During the calendar year 2017 and 2018,  
he received bonus of Rs 60,000 and Rs. 80,000 per month. Find his taxable 
gratuity for the assessment years 2018-19.		

	 (iii)	 Mira Ltd’s share capital is as under:						      Rs				    (4)

		  7,800 A equity shares of 	 Rs 100 each, fully paid up	 7,80,000
		  6,800 B equity shares of 	 Rs 100 each,
 								        Rs 80 paid per share		  5,44,000
		  6,400 C equity shares of 	 Rs. 100 each
								        Rs. 50 paid per share		   3,20,000
									         Paid up capital		  16,44,000
								        + General Reserve		  2,10,000
								        + Creditors				    1,46,000

														              20,00,000
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	 	 The average estimated profit of the company after tax is Rs. 1,80,500.  
In such type of business, the expected rate of return is 12%. From the  
above details, find out the value of share.

	 1)	 As per net assets methods.

	 2)	 As per yield method.

Q.2.	 	 The balance sheet Naresh ltd as on 31-3-2018 is as under	 	 	 	 (14)

	 (I)	 Equity and debt	

		  (1)	 Shareholder’s funds	

	 (A)	 Equity shares of Rs.10 each fully paid.		  2,00,000

		  Equity shares of Rs. 10 each. Rs 5 paid up	 1,00,000 

		  10% pref shares fully paid up				    1,50,000

	 (B)	 Reserves and surplus 	

	 	 profit and loss a/c		 	 	 	 	 	 50,000

	 (2)	 Non- current Liabilities 	

		  Long term borrowing-10% debentures		  1,00,000

	 (3)	 Current liabilities	

		  (A)	 Trade payables

			   Creditors + bills payable.				    40,000

		  (B)	 Other current liabilities

			   Bank overdraft						      60,000

			   Unpaid dividends 						     30,000

		  (C)	 Short term provision

			   Provision for Income- Tax

			   (for the year 2017-18 at 50%)			   2,00,000

								        Total			   9,30,000
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	 (II)	 Assets:	

	 (1)	 Non-current Assets:	

	 (A)	 Fixed Tangible Assets	

		  Land and building							      2,40,000

		  Machinery								        3,00,000

		  Furniture								           50,000

		  Vehicles									        1,00,000

	 (B)	 Other Non- Current assets

		  Debenture discount						      10,000

	 (2)	 Current assets:	

	 (A)	 Current Investments

		  Equity shares of GDP LTD. (1000)			   1,30,000

	 (B)	 Trade receivables

		  Debtors+ bills receivable					        80,000

	 (C)	 Cash and cash equivalents

		  Cash on hand								          20,000

								        Total			   9,30,000

		  Additional Informations: 

	 1)	 Goodwill of the company is valued at Rs. 2, 10,000.

	 2)	 Book value of land and building is 40% less than its market price.

	 3)	 Market price of machinery is 10% more to its book value.

	 4)	 1 year’s depreciation is to be calculated on vehicles at the rate of 10%.

	 5)	 Market price of equity share of GDP ltd is Rs 500.

	 6)	 Since last 3 years. Profit after deducting income-tax at 50% increased by Rs. 
30,000 to the previous year.

	 7)	 Company doing the same business and paying 30% dividend, the marked price 
of its equity share is double to the paid-up amount.

		  Calculate the fair value of both the types of equity shares.

				    OR
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Q.2.		  From the following information about the House properties owned by 		  14
Mr. vikas sahay, you are required to compute his taxable income under the  
head of house property income for A.Y. 2018.19

Particulars 	 House. 1 	 House. 2 	House. 3 	 House. 4
Nature of use Let out for 

Residence 
Rs.

Let out for 
Business  

Rs

Self 
Occupied 

Rs

Self 
Occupied  

Rs
1.	 Municipal value 3,60,000 5,60,000 8,00,000 7,60,000

2.	 Standard rent 3,80,000 5,40,000 7,60,000 8,40,000

3.	 Fair rent 4,60,000 6,00,000 8,40,000 8,00,000

4.	 Actual rent receivable 
	 (of let out period only)

3,96,000 6,90,000 - -

5.	 Vacancy period 	2 months 	1 month - -

6.	� Municipal taxes  paid 
by Mr vikas

12,000 24,000 30,000 10,000

7.	� Municipal taxes paid 
by Tenant

10,000 36,000 - -

8.	 Repair and maintenance 20,000 30,000 40,000 20,000

9.	� Year of completion of 
construction

2013-14 2010-11 2011-12 2006-07

10.	Capitalized interest 200,000 3,00,000 4,00,000 3,00,000

Q.3. 		  From the following information calculate the taxable salary for the 
assessment year 2018-19 of shree manav				    					     (14)

	 1.	 He was appointed on 01-01-2017 in the scale of 20,000-1,000-30,000.

	 2.	 He has received the Dearness allowance is 10% of basic salary. (50% amount is 
to be considered for the retirement benefit).

	 3.	 Bonus- one month basic pay (equivalent to month of march, 2018 basic salary)

	 4.	 He contribute to recognized provident funnel at 15% (Base of basic salary and 
D-A) and the company also contributes the same amount.

	 5.	 He has provided free housing facility which has been taken on rent by the 
company at Rs, 10,000 per month.

	 6.	 He is provided facility of laptop costing Rs.1,50,000.
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	 7.	 Company reimbursed the medical treatment bill of his brother of Rs. 25,000. 
Who is dependent on him.

	 8.	 The monthly salary of Rs. 1,000 of a house keeper is reimbursed by the 
company.

	 9.	 A gift voucher of Rs. 20,000 on the occasion of his marriage anniversary.

	 10.	 He is getting telephone allowance Rs.500 per month.

	 11.	 Company pays medical insurance premium of his family of Rs. 10,000.

	 12.	 Interest credited to the recogrised provident fund at 11%, Rs 22,000.

	 13.	 His professional tax of Rs.300 is paid by employer.

OR

Q.3.		  Shri jatin is a specified employee in Ahmadabad. Calculate his taxable income 
of salary from the following particulars for the assessment year 2018-19.		  14

	 1.	 He joined in the grade of Rs. 14,000-1,000-20,000-2000-36,000 on 1-1-2011

	 2.	 D.A. 30% of Basic salary

	 3.	 Bonus Rs. 50,000.

	 4.	 Entertainment Allowance Rs.2,000 per month.

	 5.	 Transport allowance Rs 1,800 per month.

	 6.	 Education Allowance Rs, 8,400 for three children and hostel allowance  
Rs. 8,600 for one child.

	 7.	 He contributes in recognized provident fund at 15% of basic salary. The 
company also contributes an equal amount.

	 8.	 Interest credited to recognised provident fund at 15% amounts to Rs. 15, 000.

	 9.	 Medical Allowance Rs. 1,000 per month.

	 10.	 The company has paid Rs. 25,000 for compensation of injuries occurred during 
the office hours.

	 11.	 The company has paid Rs. 20,120 for his family member’s medical treatment.

	 12.	 He has been provided a residential accommodation for that the company pays 
rent of Rs. 5,000 per month. The company also provides furnitures costing Rs. 
2,41,900. The company deducts Rs. 2,000 per month from his salary.

	 13.	 He paid professional tax Rs. 2,400.
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Q.4.	 	 Write short notes 	 (any three)	 	 	 	 	 	 	 	 	 	 12

	 1)	 Purpose of GST Returns

	 2)	 Permanent account Number

	 3)	 Entertainment allowance and house-rent allowance.

	 4)	 Commuted and un-commuted pension.

	 5)	 Factors affecting valuation of shares.


